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Unit 5 — Quadratics J— Name:

e

Standard Form
f(x)=ax?+bx+c

/ N\

Leading Coefficient Constant
* If (+): graph opens Lﬁﬁ If you substitute Q in for x, this
will tell you where the graph will
*1f{-): graph opens M cross the y-axis.. This is called
the i ntereeot
j.l ‘
Example 1. f(x) = -8+ 2X + X ‘ " A o §
L2 -8 T T 5
Standard Form: Ap(‘f-} = X %ZK ! P
az= %1 b = Z. c= - g Vé ;
= . 3 o E §
Does it open up or down? U 50 -z B : 1 N
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Domain: (ﬁ th} Range: E % / 5’?3?«:‘53} VW%X
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Example 2: f(x) = -12x — 2x2— 10 % ¥ N i i *
92” 3 i ; _‘ — ;‘ 1 i
- - - T oAt IR [
Standard Form: f(‘}f)* QX FLR-10 e | i é—*-—:é —
am =2 o ~I2 o =IO Q R N
; Ao v (*Q A IR l
Does it open up or down? % i
Y—intercept: {0 ) - §i)%> Qﬁ —"‘ ] l - N Q-- : -T.%.m ) 1 o
x-intercept(s): (""3} Q§ & (ME ! %> _ @ ' T . ,.4 N
Vertex: S %} ig.) ) O |-10 ; &
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3. f().()=4x2+ 8x—1

g 2
Standard Form: gé}’{/‘} = %;X %8){%!
ac A oy B -

Does it open up or down? > T)
y-int: (0,~] xeint{x): " {?""angi)} = {fs?\50>

Vertex; {%5 g’“%> AOS: X = _,_i

Domain: G-{»'O; (}C)> Ra‘gge; &“S} m\}
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5. f(x)=5-2x-x*

()= =" 2x+S

Standard Form:

..J'"i b:“"“‘zn C=‘£§;

a=

Does it open up or down? d{:}’“‘m)’ 7
y-int: o . = ; X-int(x): o (w?"ﬁf{;’\) @%(3 ~§; Q)?
Vertex: (” 1K iﬁ) ACS: o= ;

Domain: (o=, WB Range: (W%} {*9]
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4: fix)=4x+x*-3

Standard Form:

Flx) = Xﬁ% dx -5

Does it open up or down?

up

pint: L9572 sintp: ©(-4.5,0) (e5,0)
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Vertex: (M 2 ] - AQS:
™

Domain: {Mﬁaé @Q> Range: Ew'—? i o= J

X=-2

@ fix}=—8+2x*

Standard Form:

a= 2. b= O sz%}-

£lx) = 2X°5-9

Does it open up or down?

y-int: (@;«3\) x-int(x): C’"“Q ! Qj o (2 ’{‘\B?
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7. fix)=x*+5x+6 ) f{x) = x? + 7~ 8x

; 2 N
4ndard Form: “F{‘rf} = G = =94 '”i“(»@ Standard Form: g (X> = X - XVK’ "f“ 7
a= | b= %c= o a= d bzw3 c=7 |

Does it open up or down? v Does it open up or down? U

y-int: (’@é{@}x-int(x}: (-3,0) & (-2:0) yint: ©,7) wimpa: (7,00 = (1 o)
Vertex: C“"Z“gf”*?‘g}ms: Xx="2.5 | Vertex: (%”q} nos: _ XK= ¢ |
-{”w’ m§ Range: L-6-25, é@> ‘Domain: (—e=, m) Range: &9, m§ B
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9 f(x) =12x -9 -3x* 10: f(x) = 16 + x* + 8x

standard form: + 0%) 23X 12X~ 9 Standard Form: __F %) = x“+8% e
ISR Al a= [ S |

Does it open up or down? dow ™ L

it (0079 i (110D ¥ (3,0 it (D0 s 410
vertex: (2 ) pos: _ AT 2. Vertex: EA410) pos X =74
bomain: (9= ) Range: (e, ﬁj — )l @4’3} Range: LO, c:.s&)
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" Does it open up or down?
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